1. Choose the word that best fits in the blank.

A country’s leader must  possess

, the ability to fixate on a simple

conviction and grip 1it, viscerally and
unflinchingly, through complexity and
confusion.
@D flexibility
@ tenacity

@ adaptability
@ versatility
® credibility

OI'

OF

simple :
F4o0l)
conviction :
grip :
(—comprehend)

visceral : L&, O KN L=,
O|X|H]el; (#2 At 7} otL|2hZe

—

—_

unflinching :
X s,
through : (&Y.
Ol Z2E-de-A7]12] XN
i, &

complexity :
confusion : &, ZZHEEN),
flexibility :
tenacity : 1%,

adaptability : HS[88]1°d; 7i

m ‘{.!,“

1
L

versatility :
HHYAE S

credibility :
4, MYy, ¢

, 2Ry

ol

=1 O
oS A k=13
=2 T A0

KIAIA.-
—_

[ =2 0O

al
=
Al

—

. 5
[

Ctoll (Z8).Ctl (), 88

=
o
X

|-7|-6I

fotct, &stct

bl #2), (*+=-

H (]

| o

FoHOo{ (HH),
TEXDEE, Lo




2. Choose the one that is closest in meaning to

the underlined word.

Rawls burst into prominence in 1958 with
the publication of his game-changing paper,
“Justice as Fairness.” Though it was not
his first important publication, it revived the
social contract theory that had been

languishing in the wake of Hume’s critique

and its denigration by utilitarians and
pragmatists, though it was a Kantian

version of it that Rawls advocated. This led

to a greatly developed book version, A

Theory of Justice, published in 1971,
arguably the most important book of
American philosophy published in the

second half of the last century.

@D laudation

@ impugnment
@ homage

@ exuberance
(B sobriety
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prominence : 2 AMg, Hd, FE%
burst into : (ZAt7|) EEE[CHLELCH
game-changing : ©X| ZutE HELS 7tsd
(EHxH)0| U=
revive : (X5 A-fd-7H.7|A2yL o
?17h) Z|&OFLA| StCt, F2A|7|Ch
languish : 2|fSiX|Ct, (&=5TA S0|) 27IE

in the wake of : ~0f F0[0{, ~2| ZutZ A
critique : (20 & ) H|E, H[&
denigration : HO| 2| (denigrate : 2 E5}L,
(214-.80 52) f&[Z=]35t0
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homage : 4, 42|E 5

exuberance : S5%
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3. Choose the word that best fits in the blank.

ZMapp 1s created by injecting plants with a
genetically modified virus. This causes the
for the

Ebola virus, which scientists then extract

plant cells to produce
and purify. ZMapp has been given to
several individuals; however, it is relatively

untested, and its safety and efficacy are not

known.

D microbes
2 vermin

@ toxicants
@ antibodies
® detriments
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inject :
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genetically modified :
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extract : SOILHCI, F==oICt, 2Isict, 285t
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purify : THR0| StC}, A StCt, ®|TEH|IStCH
efficacy : &Y, 28, /=8

microbe : Mz, 0|4

vermin : S22 %2 FE, sIF

toxicant : 5% (), %, =4 =2
antibody : (EdH F2|) EHI#EE)

detriment : £0lf, &4, Rll=




4, Which of the

grammatically correct?

following 1is

NOT

Something similar can be said @O of other
cherished goods and practices. Consider the
rights and obligations of citizenship. If you
are called @ to jury duty, you may not hire
@ substitute to take your place. @ Nor do
we allow citizens to sell their votes, even

though @ others might be eager to buy

them.

4. 3T 0O

substitute — a substitute

YE

cherish : 29| sjC}

practices : 2|

goods : 24, #E
obligation : 2| %, ¢l
substitute : CHE (X A)StCt, BFCE ~S Ci2|#|

StCE CHE2[(Q!);, EZE(X}); CHE AR, CHHlE
jury duty : (O]) HHM RS2 Aol YBR[ RThire
. 183IC}




5. Which of the following best fits in the

blank?

Most cases of emotional maladjustment are
due to the fact that people will not accept
themselves. They keep daydreaming about

if they had
another’s chance. And so, disregarding their

own possibilities, they never make anything
worthwhile of Well,

anybody can find sufficient cause to dislike

out themselves.
their own lot. But the most stimulating
in history have come from
kind of

limitations and handicaps, took them as part

Successes

persons who, facing some

of life’s game and played splendidly in spite

of them.

(D the things they've done
@ all the things they do
@ what had been done

@ what they would do

(® which would have done

=
daydream : Y3,
disregard :
Ch(=ignore, neglect), £Al, S8t ZA|
possibility : 7tsd, HE[H¥]
o), (% pl) 2™ 7t5d,
worthwhile : & EZ0| U=, A|ZtS SLUeh

sersh 288
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sufficient : 2%, &3t
cause : ¥ Ql(weffect); O|F(=reason); M, =

A, 7|

lot HH|, =RX(=share), &, =Y (=destiny,
fortune)
stimulate : XI5 [F2]0| E|C}, H2{7} &|Ct

splendid : 2Lt=(=glorious), 2%, &%, &
A mMeI7h HE, 2ALeH(=excellent), CIE LIg

Bl (=satisfactory)




6. Which of the following best fits in the

blank?

How many people hold power in a society
and how they exercise it are eternal themes
of political debate. At one extreme a single
person rules. Such a system is usually
called a monarchy (Greek for ‘rule by one’)
when the position can be inherited within a
family. It is likely to be given such names
as tyranny (from examples in Greek
history) or dictatorship (from Rome) when
power is seized by or granted to an
individual member of society. The other
extreme is democracy (Greek for ‘power of
the people’), in which theoretically every
adult can influence group decisions. Such an
egalitarian  approach i1s  familiar to
anthropologists, studying the customs of
small tribal groups, but it has been a rarity
in more developed societies. Between the
two extremes is oligarchy (Greek for ‘rule
by a few). In a sense all early clashes
between oligarchy and democracy are an

argument over

with democrats pressing for a higher figure
than oligarchs can accept. Even in Athens,
where sophisticated democracy begins, only

a small proportion of the community can

vote.

(D where to start the most sophisticated

society
@ how to build a more developed society
@ when and where to stop the monarchy
@ who will seize the power in Athens

(® how many to include in the few

6.
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HEL

anthropologist :
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7. What i1s the passage mainly about?

Originality 1s what distinguishes art from
craft. It 1s the yardstick of artistic greatness
or importance. Unfortunately, it is also very
hard to define what originality is. The usual
synonyms such as uniqueness, novelty, and
freshness do not help us much, and the
dictionaries tell us only that an original
work must not be a copy. Thus, if we want
to rate works of art on an “originality
scale” our problem does not lie in deciding
whether or not a given work is original but
in establishing just exactly how original it
1s. To do that 1s not impossible. However,
the difficulties besetting our task is so great
that we cannot hope for more than tentative
and complete answers, which does not
mean, of course, that we should not try.
Quite contrarily, for whatever the outcome
of our labors in any particular case, we

shall certainly learn a great deal about

works of art in the process.

@D Though incomplete,

measure the degree of originality in art.

@ Originality can be applied to measure

artistic value in a relative way.

@) A work of art is original as long as it is not

a complete copy.

@ The task of establishing originality scale is

not worth pursuing for practical reasons.

(® The inaccuracy of originality scale is

greater than the benefit of using it anyway.

it i1s significant to
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8. Which of the following best fits in the

blank?

Flu 2018 panic 1s in full swing, and with
very Already
“moderately severe” by the Centers for
Disease Control (CDC), indications are that

this flu season will only get worse, and the

good  reason. termed

flu has claimed the lives of at least 30
children adults) far.
Meanwhile, study the
University of Maryland suggests that the

(and many )

a new from
flu virus may not require a sneeze or cough
to become airborne; it may spread simply
through breathing. You already know to get

the flu shot (and it's still worth getting),

wash  your hands  copiously, and
if you're sick so your
flu i1s not contagious to others. Now,

concerned folks are taking prevention a step
further, donning surgical masks—both to
avoid getting the flu and to prevent the

spread of the flu they already have.

@D fly off the handle

@ beat around the bush
@ keep a low profile

@ hear it on the grapevine

(® cost an arm and a leg
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in full swing : SFZI™ F)Ql, e 40| LA
moderately : HY57A|, &7tM, SUA; 2t H
E2

indication : EA|, &A|, X, =2

airborne : (230)

flu shot : SZ oY Fx}t

copious : Ij¢ B2, S8st

contagious : AL, §7|7] ¥

don : (R-EXt W9IE) ZAX|CE, YCh 2ot
prevention : HX|, Of2(H)

fly off the handle : €35ICt, 'WHE QICt

beat around the bush : AX|A| [HELC} O F2
Ct, U= S2|ch 2 ™S K| 2&ch

keep a low profile(=QIX| &=, (CHZ2l) &4) : Ml
| O|FE m|SiCh, MXHMIE F SO FE2{X|
X| ot

hear it on the grapevine : &E[dHd, ALE,
szl =0t

cost an arm and a leg : #2 =0| EC}




9. Which
appropriate title of the passage?

of the following

1s the most

In disrupting ecosystems, light pollution
poses a serious threat in particular to
nocturnal wildlife, having negative impacts
on plant and animal physiology. It can
confuse the migratory patterns of animals,
alter competitive interactions of animals,
change predator-prey relations, and cause
physiological harm. The rhythm of life is
orchestrated by the natural diurnal patterns
of light and dark; so disruption to these
patterns impacts the ecological dynamics.
With respect to adverse health effects,
many species, especially humans, are
dependent on natural body cycles called
circadian rhythms and the production of
melatonin, which are regulated by light and
dark (e.g., day and night). If humans are
exposed to light while sleeping, melatonin
production can be suppressed. This can lead
to sleep disorders and other health problems
increased headaches, worker

such as

fatigue, medically defined stress, some
forms of obesity due to lack of sleep and
increased anxiety. And ties are being found
to a couple of types of cancer. There are
also effects of glare on aging eyes. Health
effects are not only due to over-illumination
or excessive exposure of light over time,
but also improper spectral composition of
light (e.g., certain colors of light). With
respect to energy wastage, lighting 1is
responsible for at least one-fourth of all
electricity consumption worldwide. Over
illumination can constitute energy wastage,
especially upward directed lighting at night.

Energy wastage is also a waste in cost and

| carbon footprint. \

9.
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(D How to Reduce Light Pollution for Better

Ecosystem

@ Light Pollution Rising Rapidly on a Global

Scale

@ Various Diurnal Patterns of Light and Dark
@ Importance of Light to Human Health
(5 Inimical Effects of Light Pollution
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circadian : 24A|ZF F7|9|

melatonin : [£] (48) HWEtE (T F242| Ha}

2 xsts s2=),
S EMAAH ®EOo| Y
3}
regulate : 85I}, SHISICH, =EsIct, Ea|st
Ct
suppress : AYSICE A F2C}
: (Zdeh FOifEA)
(EHstA) gt WrEF]

e (F)H,
AT

ties
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10. Which of the following is the most logical

sequence of the four parts to complete the

passage?

Long before anyone suspected the existence
of genes, farmers recognized that the traits
of parents were passed down to the
offspring, and thus they could improve the
yield of pumpkins or the size of pigs by
selectively breeding the best specimens
with each other.

[A] Both approaches assume that nature
and nurture are implicated in shaping our
behavior, thoughts, and emotions. This
trend 1s bound to be magnified
tremendously in the next half century as a
result of advances in genetics.

[B] Currently two of the liveliest branches
of the human sciences are behavioral
genetics, which tries to ascertain the degree
of inheritability of such behavioral traits as
schizophrenia, propensity to divorce, political
beliefs, and even  happiness, and
evolutionary psychology, which searches
out the mechanisms by which these traits
are selected and transmitted from one
generation to the next.
[C] Most of these

hit-or-miss, without any foundation in an

practices ~ were

understanding of how different traits are
transmitted from one generation to the next.
But this situation 1s about to change
drastically in the coming decades.

[D] Although few important traits are likely
to depend on the action of a single or even
a few genes, some genetic engineers are

confident that the era of “designer babies”

is at hand.

@ [A]-[BI-[DI-[C]

10

@ [BI-[A]-[DI-[C]
©® [BI-ICI-[A]-[D]
@ [CI-[B]-[A]-[D]
© [DI-[A]-[BI-[C]

10. (8% ®
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trait : §M, £4, §F

pass down : CHCH 2 5o}
yield : 4E1[E]; =2(F), sH=
selective : HEf(d)el, MEE A= ZEfC
breed : (E32) /WESICE, THSO{LHCE HAA|
7|ct, (8E22) 7|2Ct

specimen : A& (=sample); (SME2]) E&
implicate : Z#A|7|C}, "fﬂ ~0lA IS
NXICHL 9HS| ~& X5t @HSICH(=imply)

=
trend : 4, AT 5

g, A, *lEH =
bound to : 3}X| %& F 8=, ~E AR THHM
glo]] AEs; F(EHANoZ] ~8A ElO Y=
magnify : ZCHSICt o5 O XISEHoz Us
CH{mHSICH, SCHAIZICH

tremendous : FA 2, &, AW

lively : 7|["871] B%l=

behavioral : ¥S9|, #F

ascertain 2ol
inheritability : #&5[AHS]1E = AS
schizophrenia : ®4 2EZ

propensity : A, 4&, HX

search out : ROIL{C}

mechanism : 7|AH|(&X]), 7|7, 7=, 4, A
2egls, e tze, 25T
practice : 8%, AH, & (=exercise), HE
foundation : A

transmit : (Xf 4t [ E) Ml

drastic: Z{&st, WS %*Ea’-"."'_*' atzhst, Exjsh
designer baby : (

o] A= HHIXtoHofl Al *1|i§ H3st= 2
2 S8 SHZ 2o, Mel+dS Sof e
ol2{ 7He| Hjor F SILtE MEHSIO EHO{LLA|
gt ot7])

at hand : HFZ Zp7t0[of; 7}t Eefoll, =;
Al €& = JA=F(FEH|5HH)

genetic engineer : 9 Z &%}

confident : E438t=, XS

hit-or-miss :

¥
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11. Choose the one that is grammatically

correct.

(D Students apply as much commitment to the
extracurricular activities as they do to their
general subjects.

@ She was born in the Addis Ababa province
of northern Africa, an area known as its
spectacular vistas.

@ It is never too early to start caring for the
land you live and grow up.

@ He had few winter clothing when he arrived
at the camp.

(® He reads storybooks to children who don't
access to TV.

11

1. BE ©

@ as — for

® you live — where you live £ in which &
@ clothing — clothes EE& few—little

® don't access to — are not allowed access

YE

extracurricular activity : Ife|(®E 1tF 0[2
o) g&

subject : Stat, a5

commitment : 25, S

spectacular : @7 2|Q|, & T, ko, 3t
ot

vista(=view) : ZA UWCtEO|E= FAX|(AHZ-7I=
T 4 2 ZO|Z LiCHE), ("aElel) MY, ol
Fo

care for : 24 S ZCH O3S 2Cf, Folsict
0{ZI0|E 2IehO|oF7|[S2H*Y

(=]
E
=

storybook : (
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12. Which of the following best fits in the
blank?

@ do not occur both in ‘pear’ and ‘bear’

@ are produced by the lips only

Contacts between American Indian groups
and Europeans resulted in borrowed
vocabulary, some groups borrowing very
little from FEuropeans and others more;
European languages also borrowed terms
from Native American languages. The type
and degree of linguistic adaptation to
European culture has varied greatly among
American Indian groups, depending on
sociocultural factors. For example, among
the Karuk of northwestern California, a
tribe that suffered harsh treatment at the
hands of whites, there are only a few
loanwords from English, such as d4pus
‘apple(s), and a few calques (loan
translations), such as the ‘pear’ being called
virusur ‘bear’ because in Karuk the p and b
sounds, as in English pear and bear;

. A large number of

words for new items of acculturation were
produced based on native words—e.g., a
hotel being called amnaam ‘eating place.
Native American languages have borrowed
words from Dutch, English, French,
Russian, Spanish (called hispanisms), and
Swedish. American Indian languages have
contributed numerous words to European
languages, especially names for plants,
animals, and native culture items. From
Algonquian languages English has the
chipmunk,

moccasin, moose, OpoSSum, Persimmon,

words caribou, hickory,

DOWWOW, raccoon, Skunk, squash,

tomahawk, totem, wickiup, and others.

@D are not distinguished
@ do not exist in Karuk

(® are placed in word-initial positions

12. A2 ®
o3

result in : H=&HsiCh ZLICH
(cf. result from : ZIt2 M dojLiCt, MI|C}H &
2f stch

term : 7|7t 7|, 87|, (QF-Alef9l) 7|5t
terms : (HAIY-X|2-23 So) =, &Ith At

0|, (mH)ZA|, &, EF, TN

linguistic : O{=h(&h2], A0{of; Ao{gtel; 210
Aol

adaptation : Hg, &3, ME(E) HAE) &

AH
A

sociocultural factor : AlZ| 231%Ql 29l(22)
suffer : (1 &-H2 MLE) AHsC (8 e
§) o}, Acict, a2 {sict

harsh : HZ%l(esmooth), 2%l(=severe), (2B|-2
o) AtLEZ, HHol AHszEls =0 AgEles
treatment : ¥ &, %, XZ2(E)

loanword : 2|210{, X} &0 acculturation :
o E22tA[AIR] FAJo CHet ofEloel &&;
[At2lE) 23t HE®R)

contribute : 7| £35lC}, 7| (S H]siCt, (2-7]1Ah
7| astct

algonquian : SO[H|Z[7} JAFTISl T BEF
(OttawaZd YO &); LYZUESE
Algonquin 2 )

word-initial : Tt0{2| 2| =X}

2
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13. Choose the word that best fits in the blank.

It 1s incomprehensible that the tax codes
should be such a(n) instead of a
straightforward bracket based on gross

earning, notwithstanding deduction.
D increment

@ qualm

@ labyrinth
@ boon

® simplicity

13

13. A1 0

Y

incomprehensible : O|5}& +
tax code : (ZIAMSF) MH
straightforward £HLE; EEoh &3 (Y0)])
ZHEESE
bracket : SiLt2 Y (—¥H)Tt A, SF 7R
(TYU2E FEEE) M2 AE
gross : SH2|, HutHQl, FH2|(total)
earning : &5, HO|
notwithstanding :
®(prep.)~0ll = ET5l11(=in spite of)
@(ad)AHM = =512 (=nevertheless)
®(conj.) ~O|2} 3l & (=although)
deduction : ', IH|; XtZH, IHY;, FE;
[=2lg)] AHH) (e induction)
increment(«~decrement) : 3L, 3%, 371
qualm : (@&0l tich =t 018, Yde|
o (Edeh ¢, d, (89t |5, H2HA
labyrinth : ZI2-EF &
0| 2(=maze), s SF
boon : 238, &%, 0|2

=1 |
simplicity : The, ZHEH o, ZHA, ZHA

_13_
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14. Choose the word that best fits in the blank. 14. 48 @

0%
Sometimes the negative criticism of a loved _ _ _
hurtful : S22, |{ollS(injurious); 4XME {3l
one becomes the more as they o
are the most hurtful to hear. disparaging : ZEE= (S8h; HU8t= (=8
@ disparaging relent : AFAZQX|Ct FI2{X|CE F26H|
@ relenting ‘Azt Ztg A of7|ct, BiE Sol) s X|ct

exquisite : OIS MIHE, MAM3| OS2 E, A
MiBt(=delicate), Ao 01E Sy, RS

ZO|gKE=Y-0LELHE S); udh ¥ =8¢t
al (o]

@ exquisite
@ scrupulous
® disinterested

I
scrupulous @ HIEQlE, HEsH  FHEH
disinterested : £t 3 S0|E #X| Y=

_14_
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15. Which of the following best fits in the 15. [HE1 @
blanks (A) and (B)? o=

retailer : 20 Aol
brick-and-mortar : [&%] (UE{HS ALE5IX]|

Retailers have long been using online

channels to make up for (A) sales o) MEXQI(I|YY
at their brick-and-mortar stores, but (cf. click-and-mortar : [&] HE wA0j QIE

U TUKIIY)
shift : (HH, F0|, FHEj=-As)Q) HAE, e
AAH, SECHE $Th(=expedient); A=,

=M (=trick)

recently, they've taken the shift to another
level, introducing products (B) for

online. The trend-conscious fashion and

cosmetics sectors are at the forefront of trend-conscious : ATHEE, =M Al ==X,
this new strategy. Beanpole Ladies recently Tdo| FA)elAo]

=
. . . | HE oaao
introduced Lime Beanpole, a series of sector : EO0F TH, N

forefront : ™M, (Z0|-{E-&F Ufo)) FH;

products sold only on its website. N
7 Za% 91X

(A) (B) ) . .

' . tentative : A& 40} 5t=; A2
@ tentative simultaneously simultaneously : SA|0f; YX|3|
@ sluggish exclusively sluggish : A2 &, (SX0)ZE, (SE0)EI(F
@ annual optionally wst, 24719
@ estimated temporarily exclusively : HIEIEHO2; SHEHOR; Q2X| ~
® skyrocketing increasingly 2 (=solely, only)

annual : 2'Ee|, YADICEO)

optionally : OFSCHZ

estimate : O{ZATCL ZAHSICE, ~2| 7kx|[2l9
SJoll chstof TEESICE

temporarily : YA M Z, UAR

skyrocket : =9%| SCHSIL}, (&7t WI7hH 28
St

increasingly : B8, H20; 37}s}0]
EXXIA.BE  S2o|y; Of7H,
5

o

e

channel : 4E, B
EHH-A S-Ate)) o

_15_



16. Choose the word that best fits in the blank.

Imagine that you are holding a rubber band.
Now begin stretching your rubber band by
pulling it to your right. This particular
rubber band can stretch twelve inches.
When the rubber band is stretched twelve
inches, there is nowhere to go

back. And when it returns, it has a lot of

power and spring.

@ but

@ to

@ as

@ for

(® against

16

16. [T @
03

rubber band : 15 HHE

but : (ad) ( FAIE ZZ=8iAM ) OorF, L=, T
% (absolutely); 1=

(ex. ®Go there ~ now! 1 R2=Z 7tA2l, 1
ZiE HI2 X|Z @Oh, ~ of course. O EE0|
X)

back : (ad) 2| {|IXI[HEH]Z, (Z)SOFAAM
go against : O SHF[2AH]SICH .0 HAZCL
Atg-2d me7h .lAl =2l XICH

_16_



17. Where does the given sentence best fit in

the passage?

17

17. A1 0@
03

A look at U.S. history reveals a succession

of dominant ideals.

(A) We often characterize periods of history
by a specific “look,” or ideal of beauty. (B)
Often these relate to broader cultural
happenings, such as today’s emphasis on
(C) In shamp

contrast to today’s emphasis on health and

fitness and toned bodies.

vigor, in the early 1800s, it was fashionable
to appear delicate to the point of looking ill.
(D) The poet John Keats described the ideal
- a milk white

lamb that bleats for man’s protection.” (E)

woman of that time as “

Other past looks include the voluptuous,
lusty woman that Lillian Russell made
popular; the athletic Gibson Girl of the
1890s; and the small, boyish flapper of the
1920s exemplified by

actress Clara Bow.

the silent movie

succession : ¥ (=series),
dominant : X|H|HQI A5t
: ~2| SMZ O|RL}

LHEFLHCE,

characterize
~9| HdH4s ~9| EHdE

happening (=event) : (3% pl.) (%3l
Y, AtZ, At
toned body : &
sharp contrast :

vigor : 27|, &, 47|

fashionable : F32|, RS W2
delicate : 7V'EE; 5| (712 S0l) MX|7|

e

bleat : (¥-H2-501X|7}) Ojof SCh ZHEIHZE
X|Zolct, 2=
voluptuous : SZHH
lusty : EE8H,
flapper : (1920'ACHS]) 4T OL7RM|, &7}t
boyish : O}0] Z2; |X[%h,
exemplify : GIS[0|A[]SIC}, ~2 £2 o7t E
Ct

0|3

O@®m @3 @00 @D

® E)

_17_




18. What is the passage mainly about?

The distinctive long curls that Jewish men
wear as sideburns, or “sidelocks,” are called
payots, a Hebrew word that translates into
English as sides or edges. The Holiness
Code in Leviticus 19-27 forbids the shaving
of the corners of the head. Different sects of
the Jewish religion put their own flare to
payots. The Yemenites call them simanim,
which means signs, because they
differentiate them from Yemenite Muslims.
They wear long, thin and twisted locks,
often reaching to the upper arm. The Skver
(Hasidic dynasty) twist theirs into tight
coils and wear them in front of the ear. The
Gur raise their payots from the temples and
tuck them under a yarmulke. The
Lithuanian Jews often leave a few short
strands uncut and tuck them behind their

ears, a style most commonly found among

yeshiva students.
@D Jewish sideburns have endured thousands of

years.

@ For many Jewish men, sideburns represent
the epitome of masculinity.

@ The Jewish religion places great emphasis
on honoring the Holiness Code.

@ Different Jewish sects reflect varying
responses to changing times.

(® Different sects of Judaism have different

sideburn styles.

18

18. AT 6
03

sideburns : B2 FHLIR

lock : (M2|2]) Et2l, Ef2fZl H2|H; (FE S2))

E2}

payot : (Judaism) curly sideburns worn by

Jewish men

sect : =0}, o}

flare : (=02 MP|2]) AE, & EIE

Yemenite : OfHl Apz

simanim : FC{QI2| AEXQ 34

differentiate : L2 Ct, AHSIC}

hasidic (FCH) 8}C|A|E (D=Hasidism)2| HHH

coil : (HE-HA Se)) #2 A

strand : (HEQ]) 7t o Z1=el A uncut

tuck : (HZI-MX-Ga M) 83 LO[EY]

2ot

yeshiva : &2 E "l*%, Ol A|HF¢ (1) Talmud2| 10
foime| CHst 2 Bu WK

olelof 2§ W|E o= |Ojue XSstu)

epitome : 7HEf, 29, HE(#EHE) UMY

holiness code : JZ™H

code : (O1H A F-At2]-SHUX S2l) 7, 7

yarmulke : [fCin) E&ot Xt MXp7F 7|

g MLt TorahE 92 M 2= X2 FH E=

ToHel ExS0| MeE| Haa|

S=HET 2}

_18_



19

19. Which of the following best fits in the | 19. [BEI ®
blanks (A) and (B)? ot
_ . : outline : 22, 2|9, /g
Aristotle outlined three kinds of common utility : Z27 S (=usefulness), S8, 9
friendships. The first is a friendship of preferable : Xt2t2| LI2, 8|8 ¢ L2, dpE
utility. In this kind of relationship, the two X3t
parties are not in it for the affection of one mutual : MZ22|, 43 A7} A=, 82, T
Eo
another, but more so because each party =2l
‘ o o virtue : 0| (+vice), A, 7HX|(=worth)
recelves a benefit in exchange. Similarly, hold dear : HS8|, ~A53| sict
the second kind of friendship is one based appreciation : (SHIZ) H7}, ECH ZHAH 01X
on pleasure. This one is more common in M), AL EF
people that are younger. It's the kind of automatic : (A& S0[) FoAHQ, HHAHQL
. . (B8 &0|) X35 o2
relationship frequently seen among college N N
_ o vituous : H=0| =2, Hdo| Qs AT
friends or people who participate on the intimate : XLs Aot =EFol (x|Alo]) 2
same sports team. The final form of e XME3
friendship that Aristotle outlined is the most affectionate : Of’80| #2, AtEFo0| HX|=, CHY
preferable out of the three. Rather than st
o S . . : 22 ACls, EES, WFHo| A=
utility or pleasure, this kind of relationship durable o R ! =0l
' o beneficial : §2l%t
1s based on a mutual appreciation of the pleasurable : (AFE0[) EHE, 7|®, 7|8 =,
virtues that the other party holds dear. o=t
Beyond the depth and intimacy, the beauty accidental : $¢o|, QU0 HEZMQ HA
of such relationships 1s that they Hel
) ) i i . HIZXQI To|of
automatically include the rewards of the intentional : 2|3 1212} R
. . _ , utilitarian : SE|HAEHEFUS Fo|l 07]E),
other two kinds of friendship. Theyre na=o
S 2| Fe| Xt
(A) and (B) devotional : US2|, 2%, A
(A) (B)
@ virtuous intimate
@ affectionate durable
@ beneficial pleasurable
@ accidental intentional
(® utilitarian devotional

_19_




20. Which of the following is different from the

others?

A dispute between (A)an American priest

and a group of Kenyan nuns over two
major hospitals for the poor was resolved
when the nuns stormed one of the hospitals
late last week. “They stormed the hospital
in the morning. The sisters came with a
contingent of police officers and other
civilians. We are now handing over. It’s all
Reverend Bob Silvio, (Ba
chaplain in the hospital the nuns retook

peaceful,”

Friday, told Religion News Service. The
Assumption Sisters of Nairobi had been in
court for over six years fighting Reverend
William Charles Fryda, (C)a_missionary
who helped found the church, for control
over the two buildings. Fryda argued that
the hospitals were his because (D)he
founded them with money he raised, but the
nuns countered that the idea to build the
hospital was theirs. The case garnered
widespread media attention in Kenya due to

the spectacle of (E)an American reverend

fighting with local nuns.

OB @B ©©© @D O6®E

20

20. ‘881 @
03

dispute : =2|5ILC}, =45ICt

resolve : O|C}, ZoSICH (EM-22 MLE)
=L, siAstct, ZAelsict, AMstrt

storm : SZSiC}, (¢ WLIE) o AX|Ct
contingent : & AS F A=(possible); FEH
o, 29|, 249, EHQl, APY LIELRY,
2 ZZH2 2 3l=(conditional)

civilian : 217t

reverend : XX}, A&

chaplain : [7}&8]] X|& M

retake : | &Ct, EHEtSiCE

Assumption : YR (EB) SLASHZERBEX)
(A-) 82 325 HYUCBHE 15¢)

missionary : (I=Z22 HtAE|=) MR (XhQ|, =
w(xhe|, At

found : ~2| ZHE FCI, (THH-EAF MRIE)
A& st

counter : ~0f HFCHSICE, ~0f HHASICE

garner : B SC}(collect), FH3IC}

widespread : 22| EgE, TS CiExol, &
ot

spectacle : 24, (2SI22) +AAHE

_20_



21. Which of the following best fits in the

blanks (A), (B) and (C)?

21

The current 1987 Constitution declares
South Korea a democratic republic and
establishes a presidential system. The
President, who is elected by nationwide
direct ballot, is the head of state and serves
a single five-year term. The President
appoints public officials, including the Prime
Minister and heads of executive agencies.
The appointment of the Prime Minister
be the
Assembly. of the State

Council are appointed by the President upon

must approved by National

Other members

recommendation of the Prime Minister. The

Constitution  (A) legislative
power in the National Assembly. The
President may attend and address the

National Assembly or express his or her
views by written message. The National
Assembly also deliberates and decides upon
the national budget bill. When the
Executive plans to issue national bonds or
that

financial obligations on the

to  conclude  contracts
(B)
state outside of the budget, it must have
the prior concurrence of the National
Assembly. Further, the National Assembly
gives its consent to the conclusion and
©

war, the dispatch of armed forces to foreign

may

of treaties, declarations of

states, and the stationing of alien forces in
the territory of South Korea. The National
Assembly may also pass a recommendation
for the removal of the Prime Minister or a
State Council member from office. Such a
may be

recommendation for removal

introduced by one-third or more of the total

members of the National Assembly, and
must be passed with the concurrent vote of
a majority of the total members of the
National Assembly.

(A) (B) ©)

@D reserves neglect endorsement
@ vests incur ratification
@ dissipates denounce convention
@ commits discharge revocation
® bestows defy condolence
21. 8E1 @
013

Constitution : (%7} =X12 H™ste) ¢H

declare : MQisict, & HSICH

presidential : president?|, XIHj[Z+E, =X, Z

=]5l=

nationwide : F=gX&Ql, MIAXo R

ballot : £E

single five-year term : 5 THQ

agency : (& melel) 7|1, H(®), 2(™)
approve : S¢Ql5tC}

legislative : 'H 42|

deliberate : & 4Zsict, ssich .2 2|5t
C}, g@olstct

obligation : 2| %, ¢

concurrence : (2|Z49]) °'7‘|

consent : &2|, 517}, (|A-AEal) X

treaty : _’F_Qf, ad

declaration : A, =1

dispatch : 2}, £}

armed forces : (-61-32) =, =Cf; M=
station : FAMO| OFS|CH BYX|SICE FXHA|Z|CH
alien forces : 2|=(foreign) CH

national assembly : T3]

recommendation : F&H, #1, 719|

removal : Si, HE

prime minister : &zl

concurrent : €X|2|; XtF2|, &2 o|AH9|
reserve : (5 AHR 2 I510]) EH|[OHA]
s SCI; o™ Fct

neglect : (QIF-¥ WeE) AlSal5ict, sjor &

NS ¢t Sict, FAISIEL FAISHCE
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endorsement : HiM(EE) : MFO|L} MHUHE
| oelel fZo 2ME & == 1 EM
vest : (H2|E) FC}, =0 [Fof]s}ct

incur : (EX| 22 «of) wx|ct, (EsHE) AUCk
(2c-HlH2I"E) xasict

ratification : H|E(#Li#): HZE =ofof CHsl
ArZOM %BHo=z =ol.Zostes HAKL2e
Lt2toll M= CHE™Eo| =2le] S2|E €0 0|
e, AlQl, M7t

dissipate : (71-7+& MLE) SE2CL (2F
el E) Zof oiz|ct; (B welE) Wasiot,
Qld-3= WL E) LA5ICH (R4 el E) S|
SICH CH M HZ2| I:H:waste)

denounce : (S393|) HIH[SZHISICE, EHEHF]
Cf, ngsict, (=9 MeQ) da2EkME 16t
Ct

convention : (EX]-Z-uK MeI2]) CHZ|, CY
X} 2l9|, ™7 &3

discharge : (X17|2] M Y.of% [Me|E) O|H[A
#Isict, (Fur-Mel.o|R 2 HE) MUSICH s

SiCh,  off Ystct, s asict

revocation : H|X|, F &, H3|

bestow : L}, 0| &3}C}

defy : ~°1| EHsict (3Y-34 §3) EHX
oL} .2 S 83tX| Lt @S Sof) grEsict

EE III'TIE) FAlStCt

condolence : O =

_22_
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22. Which of the following is closest in

meaning to the underlined expression?

These days, big data, artificial intelligence
and the tech platforms that put them to
work have huge influence and power. It
goes without saying that when computers
are making decisions, a lot can go wrong.
Our lawmakers desperately need this
explained to them in an unbiased way so
they can appropriately regulate, and tech
companies need to be held accountable for
their influence over all elements of our

lives. But academics have dozed off at the

wheel, leaving the responsibility for this

education to well-paid lobbyists and

employees who've abandoned the academy.

(D have been impudent
(2 have been watchful
@ have been superfluous
@ have been incapable

(® have been unmindful

23

22. ['8E1 0
03

artificial intelligence : Q& X|s5<F2|-g& &
QIZt H|ZTH FEHS 5l &
tech : 7|E42l; MEXQ; slo|H A9
platform : ESHEAIE 7|40| El= HFEH Al
ARLA T EQ0)

It goes without saying that : ~2 & LI
eACt

lawmaker : &'HXL, (F2])2 ¥

desperately : EAIHo=Z, €oto| E[0f, FA,
X| = 8} A (=excessively)

unbiased : MU/ [HZA]O| gl=, SHT
regulate : THESICL SHISICE, =
sy

accountable : el &=,
g = As; MEo|
hold accountable for :
<o

doze off : ECt, PHH ZEC}
well-paid : 2225171 £E2
impudent A2, HEIDS, AXIQU:=
watchful : ZH22L, Fo| 22, WX &

=, BA5:=

superfluous : H&, OE2|, ntdel; =TTt
incapable : & ©0| 8i=, .2 & = 8=, 7
st 2280s, ~2 F+ 8=

unmindful : ST, EFooh ST

(=regardless)
go wrong : ¥+E SiCt, ERSIC}
doze off at the

_23_



23. Which of the following is NOT true,

according to the passage?

24

| was changed dramatically. \
(D During the 18th century, cotton changed the

Britain's cotton industry grew at pace
throughout the Industrial Revolution. Cotton
was Introduced to the country in the 16th
century and by the 1700s it had changed
the way people dressed. To keep up with
increasing demand, cotton mills sprung up
across Britain, especially in the north of
England. Thanks to the water coming down
from the Pennines, the North of England
developed a thriving cotton industries. The
fast flowing rivers coming down from the
Pennines provided the power supply for the
factories, although this would later be
supplied by coal power. It also provided
fresh, clean water with which to wash the
material. Liverpool also boasted a thriving
cotton industry thanks to the strong
transport links through its ports. In 1774 a
heavy tax on cotton thread and cloth made
in Britain was repealed, further boosting the
cotton industry. Furthermore, numerous
inventions and technological development
transformed the cotton industry, in tumn
helping to establish the UK as the cotton
‘workshop of the world.” One such invention
was the Flying Shuttle, which was created
by John Kay in 1733 and enabled cloth to
be weaved faster than before. Another was
the ‘Spinning Jenny,” which was created by
James Hargreaves in 1765. ‘Water Frame,
patented by Richard Arkwright in 1769,
embraced waterpower, but it also produced
a higher quality thread than Hargreaves’
Spinning Jenny. Thanks to Crompton’s
‘Mule’ in 1779, and Boulton and Watt’s

steam engine a few years later, the industry

way British people dressed.

@ Strong transport links at ports made
Liverpool suitable for cotton mills.

@ Levying heavy tax on cotton thread and
cloth in 1774 jeopardized the cotton industry.

@ Higher quality threads were spun by ‘Water
Frame’ than by ‘Spinning Jenny.’

® England's cotton industry dramatically
improved due to Boulton and Watt's steam

engine.

23. [8E1 06
o3

keep up with +something : (F2-58 Sof CH
o) €A =ICHECH (%5 §2) A% WLk ~
2 HI|Heo= st

keep up with + somebody : ~2 A& ¢2td}
1 X|Lfct

cotton mill : ()X Z%

spring up : 2 LtEFLICHZIXLZ| MZ{LCH, 47|
Cf, 2/ dsict, LojLict, (HiEol) =t
thriving : Hgst=, Halsh, ™ 7 7=, &
Sl d&Est=

steam engine : 37| 7| & (X}

workshop : ¥E, ZUY, F7IX7I &2 ¥
ote) =32, &5 A9

power supply : HH[EH] 35, HAEF) &
x|

coal power : MEF M
boast : (X}ZHE|E) 7IXICt, ~2 XF22 #

Ct
boost : d7|& FLAI7ICt, (EMEFS) SIS
7HAIZIck

transport : &, 2
link : (WE -S4

repeal : F2 & }Ct, HX|stCt, H2|SICt boost
weave : (X|2-HttL M| E) Wcf, =t HCt

_24_



embrace : SLC}, ZSH[EZ]SICH
waterpower : 3

patent : 2| (HONESHE FCHFECH; .oA &
5|dS Frf

spinning jenny : CH5(Z8#) LA 7|(X7|2 UH
7])

water frame : &3 WH7|: £ (EYHYoHhez
SHO|= X729 U7

flying shuttle : (%1712]) 2| W= F(@ HIS0ll
= 7|7e| stLiHEe] §2 & gt Ztch SHH
M MNHdS E0 FO 4§

@ M3E2 FHE(EH
FE )
mule(=spinning mule) : & H%7|
W UE@EIA, Ao RI7|n B AA S
7| #I5to] FotF7|HAM B OX|Y I37H)
dramatically : SHOZ, E5A|A|

jeopardize : IEHEH StCt, fIEHZE ZAX[of b
ccg|ch

3
2
S
o

_25_
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26

24. Which of the following best fits in the
blank?

@  ameliorate  the functions of all

microprograms

An evolutionary perspective leads one to @ come out with mutually harmonious results

view the mind as a crowded zoo of evolved, © deliver outputs that conflict with one

domain-specific ~ programs.  Each  1is
functionally  specialized for solving a
different adaptive problem that arose during
hominid evolutionary history, such as face
recognition, foraging, mate choice, heart
rate regulation, sleep management, or
predator vigilance, and each is activated by
a different set of cues from the
environment. But the existence of all these
microprograms itself creates an adaptive
problem: programs that are individually
designed to solve specific adaptive problems
could, if simultaneously activated,

, Interfering with or nullifying
each other's functional products. For
example, sleep and flight from a predator
require mutually inconsistent actions,
computations, and physiological states. It is
difficult to sleep when your heart and mind
are racing with fear, and this is no accident:
disastrous consequences would ensue if
proprioceptive cues were activating sleep
programs at the same time that the sight of
a stalking lion was activating ones designed
for predator evasion. To avoid such
consequences, the mind must be equipped
with superordinate programs that override
some programs when others are activated
(e.g., a program that deactivates sleep
evasion

programs when predator

subroutines are activated).

(D enhance each program’s functional product

@ evolve to solve all the adaptive problems at

once

another

24. 881 0
03]

evolutionary : XI3t20] o|st
perspective : Ta; Az
domain-specific : Y &
functional : 7|s5ZHel, 7|S[48] %2

specialize : H&
3]

adaptive : g H3ol=; HE8E = U=
X382 8&

arise : (EM[-AtZ-
EfLtCH 2 45ict
hominid : 21&F; AFe| =& @iz AR =
7t E AMEoIY E8)

foraging : =& &
mate choice : Hf X% MEH
regulation : &, #d, Z=HE, =%
vigilance : =¥, A4

activate : S [ES]AI7[Ct &/d3}siCt

existence : =X,

g
F

microprogram : FE) ool 2= =2 zM0t
olaz==z2as UM 2= EZ[RE!](routin
e

nullify : 22 Sict, Tt7|[(F 2]t F7HX St
Al ECH 22 E2|0t

computation : A&k A4te| Anf, FHEE)
TX; 7L HREQ ME[XZFH]
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physiological : ‘d2|8t(&he|, Ma|X el

disastrous : H|&?2; X el xjsHe

ensue : ASOA[AU}E] Lo{LiCt, ZAtz A

YofLict

proprioceptive : (d2|) X}7| =82

cue : (FAS dlgte) M=

stalk : (H-At'dZol) €M HI2sict

cf. stalking horse : (ZI® FHZ =717 flgh
HEE

evasion : (4¢l.2| 2

equip with : (2-H| L E) HFC}

superordinate : (Z-X|2| §0|) 4%l

subroutine : AHE

)
override : FA|SICE, AHAEsSiCh, (EH
F82 s}, FIACt
enhance : &45ILE; (7HX-SH-01H WL E) =
o|ct
ameliorate(«deteriorate) : 7i 4 [7H &) }C}

output : AHE, d4t

_27_
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25. Which of the following is true, according to

the passage?

Humans are notoriously bad at resisting
temptation. Our tendency to value the
pleasures of the present more than the
satisfactions of the future comes at a
considerable cost. Walter Mischel suggested
with his famous marshmallow experiments
with children that those who can persevere
toward their long—term goals in the face of
temptation to do otherwise are best
positioned for success. This view of
self-control, however, i1s wrong. Recent
studies show that not self-control but pride,
gratitude and compassion reduce the human
mind’s tendency to discount the value of the
future, and help people succeed in life. So,
cultivate these emotions. Reflect on what
youre grateful to have been given. Allow
your mind to step into the shoes of those in
need and feel for them. Take pride in the

small achievements on the path to your

goals.

(@D Few people succumb to temptation.

@ Pride hampers successful social interaction.

@ Marshmallow experiment findings are

upheld time and again.

@ Appreciating the value of the future is

linked to success.

(® Walter Mischel correctly characterized

successful children.

28

25. 881 @

Y
notoriously : (LHEA|) He2| 2N
considerable : (=30|) ¥ %2, MX| %2; 4
et
persevere : ®C}, ZAC|Ct, HE|LC}
otherwise : @ T WMoz IJHIX|= %1 @

(3T FBE7EE A MRS s P°=IJ

groF JHX| %om g LI (RE) MO M=

gratitude : ZAL 22| O3
compassion(=sympathy) : E%3| oA, (L)
Sd@)

discount : ~2| 7HX|§ BO{EZ|Cl; ~o TIE
ZaA7I0t

cultivate : (M

s
A [(AOSICE +=#SIC
C}, ZTsict
reflect on : BHd5ICt, S50| 4Zisto R}, 3
aBICt
step into the shoes of : ~O| A|Ztsh 2AZ A%
Stch~2] 20| E|Ch
take pride in : ~2 X}&3ICt
succumb : 2F5lC}, £ &S #C
hamper : WalisiCt, (S&-XEE) FWsict 2
ZStAl sict, (el =AM MelE) oHX|ES|C
uphold : [X|CL X|X|(A]Q, H=Z)5IC (B
oE Mo ) gelsiot

interaction : 4% X8 Al$Oo| HE
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